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Draw a graph for each inequality.

1)  m < 1

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

2)  n < -2

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

3)  b £ -1

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

4)  x £ -6

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

5)  -6 £ n

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

6)  r > 2

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

7)  n £ 3

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

8)  x > 6

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

9)  n ³ 2

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

10)  5 > n

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

Write an inequality for each graph.

11)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

12)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

13)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

14)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

15)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

16)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

17)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

18)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

19)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

20)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7
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Solve each inequality and graph its solution.

1)  16 + x > 21

3 4 5 6 7 8 9 10 11 12 13

2)  4 + p ³ 5

-6 -5 -4 -3 -2 -1 0 1 2 3 4

3)  -11 £ -9 + n

-7 -6 -5 -4 -3 -2 -1 0 1 2 3

4)  r - 1 < 1

-1 0 1 2 3 4 5 6 7 8 9

5)  k + -10 < -23

-14 -12 -10 -8 -6

6)  -23 £ k - 17

-12 -10 -8 -6 -4

7)  -2 > v - -14

-22 -20 -18 -16 -14

8)  -27 £ -19 + x

-10 -8 -6 -4 -2

9)  m + -6 > 0

3 4 5 6 7 8 9 10 11 12 13

10)  2 £ p - 15

9 10 11 12 13 14 15 16 17 18 19

11)  b - -10.6 £ 16.8

4 5 6 7 8 9 10 11 12 13 14

12)  -10.5 + n > -11.7

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

13)  
7

12
 £ b + -

2

3

-6 -5 -4 -3 -2 -1 0 1 2 3 4

14)  x - -
7

17
 < 

7

17

-7 -6 -5 -4 -3 -2 -1 0 1 2 3
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Solve each inequality and graph its solution.

1)  16k < 48

-1 0 1 2 3 4 5 6 7 8 9

2)  -50 > 5r

-12 -10 -8 -6 -4 -2

3)  -4x < 52

-18 -16 -14 -12 -10

4)  -9 > -9n

-3 -2 -1 0 1 2 3 4 5 6 7

5)  -72 > 12a

-10 -8 -6 -4 -2 0

6)  
x

12
 ³ -4

-50 -48 -46 -44 -42

7)  -7 ³ 
x

13

-94 -92 -90 -88 -86

8)  
b

15
 £ -16

-242 -240 -238 -236 -234

9)  7 ³ 
r
9

57 58 59 60 61 62 63 64 65 66 67

10)  
x
9

 > 
11

9

5 6 7 8 9 10 11 12 13 14 15

11)  -5.1p > 78.54

-22 -20 -18 -16 -14 -12

12)  
p

12.5
 > 0.72

1 2 3 4 5 6 7 8 9 10 11

13)  
35

11
 £ 

5

3
x

-4 -3 -2 -1 0 1 2 3 4 5 6

14)  
180

13
 £ 

12

13
r

12 13 14 15 16 17 18 19 20 21 22
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Solve each inequality and graph its solution.

1)  -2x + 2 + x £ 10

-10 -8 -6 -4 -2 0

2)  6 £ 8x - 6x

-2 -1 0 1 2 3 4 5 6 7 8

3)  a - 8a ³ 7

-6 -5 -4 -3 -2 -1 0 1 2 3 4

4)  -2a + 2a > -3

-4 -3 -2 -1 0 1 2 3 4 5 6

5)  21 > -8a + 5 + 8

-6 -5 -4 -3 -2 -1 0 1 2 3 4

6)  b + 5 - 4b £ -10

-1 0 1 2 3 4 5 6 7 8 9

7)  3 + 2m - 5 £ -14

-12 -10 -8 -6 -4

8)  5p + 2p < 0

-6 -5 -4 -3 -2 -1 0 1 2 3 4

9)  7x - x £ 24

-2 -1 0 1 2 3 4 5 6 7 8

10)  0 ³ 6x + 5x

-3 -2 -1 0 1 2 3 4 5 6 7

11)  150 ³ 6(1 + 4n)

3 4 5 6 7 8 9 10 11 12 13

12)  3(4m - 3) £ -81

-12 -10 -8 -6 -4 -2

13)  x - 8 < -8 + 3x

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

14)  -14 - 3b < 4b + 7

-10 -8 -6 -4 -2 0

15)  -14 + x > -3(8 - x)

0 1 2 3 4 5 6 7 8 9 10

16)  3v + 3(1 - 6v) ³ -6v + 21

-7 -6 -5 -4 -3 -2 -1 0 1 2 3
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Solve each compound inequality and graph its solution.

1)  7 < x - 2 £ 8

6 7 8 9 10 11 12 13 14 15 16 17 18

2)  -20 < 10x £ 20

-4 -3 -2 -1 0 1 2 3 4 5 6 7 8

3)  0 < 
r
4

 £ 1

-2 -1 0 1 2 3 4 5 6 7 8 9 10

4)  3 £ x + 6 < 6

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

5)  x - 6 < -4 or 
x
7

 ³ 1

-1 0 1 2 3 4 5 6 7 8 9 10 11

6)  
x
8

 < -1 or 
x
5

 > 0

-12 -10 -8 -6 -4 -2 0 2 4

7)  n + 9 < -1 or n + 10 > 17

-12 -8 -4 0 4 8

8)  -6 + x £ -13 or -7x < -14

-12 -10 -8 -6 -4 -2 0 2 4 6

9)  48 £ -6n < 54

-16 -14 -12 -10 -8 -6

10)  -6 < x - 10 £ -3

3 4 5 6 7 8 9 10 11 12 13 14 15

11)  -80 < 9p - 8 < 82

-8 -4 0 4 8 12

12)  -21 £ 5n + 4 £ 44

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

13)  -3 - 5n £ -43 or 4 + n < 5

-4 -2 0 2 4 6 8 10 12

14)  x - 4 ³ 1 or -3 + 2x < -19

-10 -8 -6 -4 -2 0 2 4 6 8

15)  -9r + 6 < -8r + 6 or -3 + 4r > 5r + 1

-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5

16)  8p - 3 £ 10p + 9 £ 9p + 8

-10 -8 -6 -4 -2 0
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Solve each inequality and graph its solution.

1)  n  > 10

-12 -8 -4 0 4 8 12

2)  p  £ 4

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5

3)  x  + 10 £ 19

-10 -8 -6 -4 -2 0 2 4 6 8 10

4)  a  - 4 £ 6

-12 -8 -4 0 4 8 12

5)  -4 x  > -24

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

6)  
x
9

 ³ 3

-30 -20 -10 0 10 20 30

7)  -3 x  + 4 < -8

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8

8)  3 x  - 10 £ -4

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5

9)  m - 5  ³ 12

-8 -4 0 4 8 12 16 20

10)  4b  > 16

-8 -6 -4 -2 0 2 4 6 8

11)  3x  > 21

-10 -8 -6 -4 -2 0 2 4 6 8 10 12

12)  n - 4  £ 9

-8 -6 -4 -2 0 2 4 6 8 10 12 14 16

13)  2r + 4  £ 14

-10 -8 -6 -4 -2 0 2 4 6 8

14)  10 - 9n  > 1

-5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

15)  5 + n  - 10 ³ -9

-10 -8 -6 -4 -2 0

16)  
a
2

 + 1 ³ 4

-8 -6 -4 -2 0 2 4 6 8


